DESCRIPTIVE TYPE QUESTIONS
SUBJECT : MATHEMATICS
(Each question carries two marks)

(English Version)
1. Prove that the equation cos 2x + asin x = 2@~ 7 possesses a solution if 2<a<6.

Vil mon. I I
2. Find the values of x, {~-x<x<x, x=0) satisfying the equation, 81+lm11-|{qos 4 =4

3. Prove that the cenire of the smallest circle passing through origin and whose centre lies on y=x+1 is [—% %]

4. Prove by induction that for all ne N, n? +# is an even integer (= 21).

5. If A, B are two square matrices such that AB = A and BA =B, then prove that B> =B

a* -1 : : 2" =1
a. Us.elhefformulasl_t)0 " -log,a,tocomputexl_tm\ﬁ_;ﬁt.

— |
8. If %ﬂh——’; =0, prove that , le—yz +y\/l—x2 =A where A is a constant.
r ~x

2
9.  Evaluate the following integral [lxsinz x}dx

gle)fla)-gla)rlx) _

10. If fla)=2, fla)=1, gla)=-1 and g4a)=2, find the value of lim a
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1. ATMITA cos2x+asinx=2z-7 ANTHBI A NI TR 2<2<6 |
il I 2 TR ;
2. x RUAREIT (~r<x<n G x20) NASTW ghHeosttios’ st _ 13 et P

3. WM I O AN, TEE AT Y y=x+! P Sl SR O (T (-% %J

4. MRS IR el TRl (TS (5’ + 4 TR B PIMY( 121 GR e N) |

5. ACRBYS RGN TAB=A SR BA=BORP &I X B2 =B

6. Wi N=n! (neN, n>2) J, ]J;"L[(h” N1+ (logy ML+ logy, N)“] O G W
7. Ho L log, o & 2ot aRar R J1_+? [ e A

3 2 ;
8. ﬂﬁ%+ t—iz=o ummwﬁz\h—yﬁﬂ 1-x? = 4, (AU A @3B 8% |

9. BRIl RS [jsing o dx
-

10. T fla)=2, flo)=1, gla)=-1 &R gla)=2 TWORX lim glelf (") 3’(")’" () o Bt

X=¥az
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